Name: Date:

Teacher: Class:

Division 519

Tongue Twister: Three tree toads tied together tried to trot
to town.

SOME have a remainder.

5.

1. 2. 3. .
2)3,722 6)3,781 4)3,145 8)7,014 9)2,820

6. 7. 8. 9. 10.
9)1,955 5)7,050 7)9,165 7)6,606 6)8,624
11. 12. 13. 14. 15.
7)8,684 2)6,510 4)1,222 7)7,952 2)7,590
16. 17. 18. 19. 20.
5)3,493 7)9,394 8)1,090 4)3,145 8)7,014
21. 22. 23. 24. 25.
9)2,820 9)1,955 5)7,050 7)9,165 7)6,606
26. 27. 28. 29. 30.
6)9,746 6)9,097 2)1,575 7)1,671 5)2,344
3L 32. 33. 34. 35.

4)7,655 7)8,328 5)1,479 8)9,229 9)4,651

40.

36. 37. 38. 30.
4)1,442 9)3,149 3)6,597 7)8,172 7)5,768

© Facilitators Ferriswheel WS#:Div519 Score:



Answer Key Date:

Teacher: Class:

Division 519

Tongue Twister: Three tree toads tied together tried to trot
to town.

SOME have a remainder.

1. 1,861 2. 630 3. 786 4. 876 5. 313

2)3,722 6)3,781 4)3,145 8)7,014 9)2,820
RO R1 R1 R6

R3
6. 217 7 1,410 s 1,309 9 943 10 1,437

9)1,955 5)7,050 7)9,165 7)6,606 6)8,624
R2 RO R2

R5 R2
11. 1,240 122 3,255 13 305 14. 1,136 15 3,795

7)8,684 2)6,510 4)1,222 7)7,952 2)7,590

R4 RO R2 RO RO
16. 698 17. 1,342 18 136 10 /86 20 876

5)3,493 7)9,394 8)1,090 4)3,145 8)7,014

R3 RO R2 R1 R6
21. 313 22 217 23. 1,410 4. 1,309 25 943

9)2,820 9)1,955 5)7,050 7)9,165 7)6,606

R3 R2 RO R2 R5
6. 1,624 27 1516 28 /87 29 238 30 468

6)9,746 6)9,097 2)1,575 7)1,671 5)2,344

R2 R1 R1 RS R4
3t. 1,913 32 1,189 33 295 34 1,153 35 516

4)7,655 7)8,328 5)1,479 8)9,229 9)4,651

R3 R5 R4 R5 R7
36. 360 37 349 38 2,199 30 1,167 4o 824

4)1,442 9)3,149 3)6,597 7)8,172 7)5,768
R2 R8 RO R3

RO

N
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